Vidar Christiansen

Econ 4620 Public economics: Seminar assignment for week 44.
Problem 1
Assume that the population consist of two agents, 1 and 2, with exogenous wage rates, 
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, which reflect their respective productivity levels. Let 
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 is a constant parameter (i=1,2), g is the amount of a publicly provided good and A(g) is a functions with the properties A’(g)>0 and A’’(g)<0. 
a) Explain in words the role for g in this economy? 

Let  
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 be the labour supply of agent i, and let y be the output of a homogeneous private good produced solely by means of labour:
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 where c is a positive parameter.  

b) How do you interpret cg?

c) Do you find 
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to be a plausible (direct) utility function for an agent?

d) Characterise the first best optimal amount of g in this economy and compare with the condition for production efficiency.  

Assume that g is financed by a proportional income tax with rate t. 

e) Show that the indirect utility function is given by 
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f) Explain why finding the Pareto efficient provision level of g under the assumed tax regime is equivalent to maximising (1-t)A(g) s.t. the government budget constraint. 
g) Carry out the maximisation and compare the result with that of d). 
Problem 2
Assume that firms’ profits are taxed at a rate t. Assume that the firms use labour and capital as inputs. Some firms use capital of type 1 which depreciates at a rate d, and other firms use capital of type 2 which depreciates at a rate D. The depreciation allowance for the first type of capital is a=d, while the depreciation allowance for the other type of capital is A>D. Discuss the allocative efficiency implications of this tax system.
Problem 3
We can write the optimal tax condition of Edwards, Keen, and Tuomala to characterise the optimal commodity  tax structure by the formula
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   (k=1,2)   where 
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 is a positive parameter.
Interpret the left hand side of (1).

We will spend some time discussing the term paper. 
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